Subatomic Particles
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Atomic Structure
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Atom Terminology:
· All atoms of an element have the same atomic number = number of protons 

· In a neutral atom (no charge), the number of positively and negatively charged particles must be equal.  
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Particle Charge Relative Mass

Electron -1 1
Nucleons Proton o=l 1836

Neutron 0 1841

* Not measured directly but calculated from experimental data.
**9.11 X 10731 kg = 0.000000000000000000000000000000911 kg

Actual Mass* (kg)

9.11 X 10731 ¢
1673 X 107%7
1.675 X 10727



        Number protons = number electrons

· The mass number = protons + neutrons

· Isotopes are atoms of an element with the same number of protons but different numbers of neutrons, and different mass

Average Atomic Mass = weighted average of atomic mass of all atoms
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Example:

B has 2 isotopes:   B-10: mass = 10.0129 amu 
B-11: mass = 11.0093




     abundance = 19.91%

  abundance = 80.09%

What is the average atomic mass of Boron? 
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